EARAROBEEIERT — 2 N— IBISH —F

20155 7A4H (+) sE=HI1A

mjzﬁff,_i,?,u Cl1 H5%—% ESRE I
[AE4£] 1% :160,000 @ ~ 23#&:40,000 M  33%&:20,000H" . 43%&:12,000H 53 :8,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . KRR 144, —4-4- . - MEEX (SH)
R i 5 X 1(4_4)3 4-4-4-1 | 40.2 4 (4_926) EEF&&E
koA =>9d B:VI—-RKTF12T HR&t U7-F
i S LA EEEHR 144, 00— . — flEE (FH)
21811 NRTFRXLTET i d 56.0 1(424)7 a2t 409 ! 2); Pz V)
R:d—IWKRT7Ua— BRTFRET— [ia=Ese]
355V /Xy # 5 %g%ﬂé 1:(414>.9 7-6-7-4 |40.4| — | 8 <4+939) %yzgf (&)
RTHAFLAY BXa-—F k-2 oI
N g 1L B : ~5-5-. — Hse (FH)
4 3| ALy A #7150 1(,‘\“;? R R ’ ;‘f; B
AR w4 =T BihHLEIY =i BB
S i o6 | THER 1:45.1 1-1-1-1 | 41.5| — 5 465 | BEMETL (BH)
5/7l9|7—3>> 53.0 (3/8) ) | B TEREL
R:xg—YrsaA-x B:S5EyKU-5> Hro—t>
S MR =35 :45. -8-8- 4| - NISFEE (SH)
617187 bXyTa "o 56.0 1(745[:)2 AR R ! ?f(; B E
RL:ARTA4 b= B:aq49% HET77—L4
N . N EFEREK : —9-0- - BIFFET (&H)
Yayprar 4B o Foes 02 ° (4:2) st
L:r07% BiILYIAR—b HR=FTT7 — L
TS NG 4 8 é%%i!'l 1:(425).6 6-6-5-7 |41.2| — 2 | 493 %gé; (=)
XY ISNIS A~ BiTT T G0 N
N . FEILRaE 146. ~10-10- . — WMARREE) (FH)
XXAZREY Y b #o4 | BWRR AN i O | EAs
R:TZ72708— B:LT1E€77T1 HET77— L
ang( S UT=2 6 E{'&ﬁiﬂ 1:(487).7 2-2-3-10 |43.9| — | 9 | 474 2@%2 (=5
RTINS B IRIAT R BT
TRIAVS v H— #o8 | BIUE ) . B R N P g Y
oxA1ZTyr—2 B:LIYRhLAL J=HPrTr—LI
® I —F—@EBIERL
|2=3F= 9,(4,11),1,3,2,5,6,8,10
2ol=7r= 9,(4,11),1,3,(2,5),8,6,10
da=3r= 9,11,4,1,(2,3),5,8,6,10
40—+ — (1,9,11),(3,5,8) ,2,6,10,4
[ N3
H OB 1 680M 714K 1-11 540M % E 1-8 1,330 3EHE 1-5-11 11,320
8 B 1 2104 1-5 2,220 B = 1-11 1,570H K31 1-11-5 62,070
1 170M 5-11 1,820 | | & B 1-11 3,840
5 360F9

ABICOVWTRDTEEERROODE. TR LIV,




